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PAPER -1
WUT—1

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

9 YT § U (50) - foshed i Ue €1 YA U ar (2) 31kl b1 1 |t el
IR AR <R

1. The teacher has been glorified by the phrase “Friend, philosopher and guide”
because :

(A) He has to play all vital roles in the context of society
B) He transmits the high value of humanity to students
He is the great reformer of the society

He is a great patriot

2. The most important cause of failure for teacher lies in the area of :
(A) inter personal relationship
(B) lack of command over the knowledge of the subject
(C) verbal ability
(D) strict handling of the students

1. stk i, Snifaes v arieste’ @t sifeafad & Tienfaa foan e €, SRt RO T
(A) 8 AN H TEequl fien o1e1 HET T
(B) T8 BTN %l A o HeM Hedl Sl &I HLdl © |
(C) 9% 9o 9IS GHIReh &Il ¢ |

(D) 9% WM SUIME Bl 7 |

2.  SIHATIH Dl TR Bl FaH TSI HR :
(A) SAIafeah Hae
(B) fawa & I wara iz 7
(C)  «IfeR S&Far
(D) BT % Yfd FHSRAT 1 HAZR

WXYZ—-00 3 P.T.O.



3. A teacher can establish rapport with his students by :

(A) becoming a figure of authority
(B) impressing students with knowledge and skill
(C) playing the role of a guide
(D) becoming a friend to the students
4.  Education is a powerful instrument of :
(A) Social transformation (B) Personal transformation
(C) Cultural transformation (D) All the above
5. A teacher’s major contribution towards the maximum self-realization of the student is

affected through :

(A) Constant fulfilment of the students” needs
(B)  Strict control of class-room activities
(C) Sensitivity to students” needs, goals and purposes
(D) Strict reinforcement of academic standards
6.  Research problem is selected from the stand point of :
(A) Researcher’s interest (B) Financial support
(C) Social relevance (D) Awvailability of relevant literature

7. Which one is called non-probability sampling ?
(A) Cluster sampling (B) Quota sampling

(C) Systematic sampling (D) Stratified random sampling

8.  Formulation of hypothesis may NOT be required in :

(A) Survey method (B) Historical studies
(C) Experimental studies (D) Normative studies
WXYZ—-00 4



3. 3T T BE % Ty Frefafad § 9 R % gR e Tenfud R Hehd €2
(A) faw= =1 mftrma fagm
(B) 3T T TS v & BIHI bl YIfed ik
(C) WTTeEE i fieh! o7a1 Hleh
(D) BT I 7 s

4. Toan frafafed o 9 forus e afsdemet @em €2
(A) HMHIFST E AT 61 (B) AT &I
(C) Hiwehideh IR I (D) S |t &

5. faeneff =t sAferhan eTHIAI Y (self-realization) H STEATIH I ANGH Ffafaad H fordeh
SR BT & 2

(A) BT ! SALAHAT ht STHRT Yfd gRI
(B) <haTl T BT % fshareshamdl W R s gra
(C) BT I STERIHATHAI, Tl TS I3l o Ufd HAgTeierdl g
(D) ifeTeh TR & Herd & foraraam
6. STIEYM ! GHEN 1 IAE FEfafEd # ¥ fh gfeson 9 g 2
(A) meeff =6t w4 (B) 3o SRl
(C) wrHIfSTh YrEfTehdl (D) W4 Hifecd i SueTsddl

7. fr=fafad 5 9«6 1-gyrerd gfaeeq sedd &2
(A)  HHB Yfd=eH (B) el Yfdq=raA
(C) =Haferd Yid=rad (D) wid Agfess Yfd=ad

8.  UTEReHl Sl &Yy fefaifed § o7ufad 767 ®

(A) wEg ggfd (B) Ufeifaes stemA
(C) WrEifTR S7ezr (D) STEWcHS AT
WXYZ —00 5 P.T.O.



10.

Field-work based research is classified as :
(A) Empirical (B) Historical
(C) Experimental (D) Biographical

Which of the following sampling method is appropriate to study the prevalence of
AIDS amongst male and female in India in 1976, 1986, 1996 and 2006 ?

(A) Cluster sampling (B) Systematic sampling
(C©) Quota sampling (D) Stratified random sampling

Read the following passage and answer the questions 11 to 15 :

The fundamental principle is that Article 14 forbids class legislation but permits
reasonable classification for the purpose of legislation which classification must satisfy
the twin tests of classification being founded on an intelligible differentia which
distinguishes persons or things that are grouped together from those that are left out of
the group and that differentia must have a rational nexus to the object sought to be
achieved by the Statute in question. The thrust of Article 14 is that the citizen is entitled
to equality before law and equal protection of laws. In the very nature of things the
society being composed of unequals a welfare State will have to strive by both executive
and legislative action to help the less fortunate in society to ameliorate their condition
so that the social and economic inequality in the society may be bridged. This would
necessitate a legislative application to a group of citizens otherwise unequal and
amelioration of whose lot is the object of state affirmative action. In the absence of the
doctrine of classification such legislation is likely to flounder on the bed rock of equality
enshrined in Article 14. The Court realistically appraising the social and economic
inequality and keeping in view the guidelines on which the State action must move as
constitutionally laid down in Part IV of the Constitution evolved the doctrine of
classification. The doctrine was evolved to sustain a legislation or State action designed
to help weaker sections of the society or some such segments of the society in need of
succour. Legislative and executive action may accordingly be sustained if it satisfies
the twin tests of reasonable classification and the rational principle correlated to the
object sought to be achieved.

The concept of equality before the law does not involve the idea of absolute equality
among human beings which is a physical impossibility. All that Article 14 guarantees
is a similarity of treatment contra-distinguished from identical treatment. Equality
before law means that among equals the law should be equal and should be equally
administered and that the likes should be treated alike. Equality before the law does
not mean that things which are different shall be as though they are the same. It
ofcourse means denial of any special privilege by reason of birth, creed or the like. The
legislation as well as the executive government, while dealing with diverse problems
arising out of an infinite variety of human relations must of necessity have the power of
making special laws, to attain any particular object and to achieve that object it must
have the power of selection or classification of persons and things upon which such
laws are to operate.

WXYZ—-00 6



10.

- 3TYd WY I FAfafed ot H W o e
(A) Efeargyeades Y (B) Uftrerieeh Ty
(C) HANTIcH 3NY (D) SATCHRATHS oY

Rd H Je9 T4 Afecnell °§ =< TSH o 1976, 1986, 1996 1 2006 H fohy T 319 |
Frafafeaa & 4 SH-t gfaeem ugfd Sugea @ -

(A)  FIRT gid=aT (B) Hafed Hid=rad
(C) el dfq==a (D) wihd Agfese Yfd=ad

Ffefaa Temsr @t afgw 3 997 11 @ 15 & & 307 GG -

qefagia e & ff a0 14 o emmea fafyu-fmio o afsia sdt 2, g fafa fofon & st 9,
T SR et STTATT Tt §, ST 7 afaaal iR aegeii & s 9 Fdl &; T weh ot A
@ T €, S 39k faadia € iR g9 ot 6 St 1 98 1 T qehdiTd SAfSY (nexus) T
ey, F5T9 S (statute) i SATHT I8 3239 T A1 & | €N 14 1 9 39 o1 W 3, o A
o HHE Tedeh ANTRe FHIAT Te AT HX&T0T Sl BhaR © | i1 &9 § FAIS H STHAMA §
T HeATIThRI Y ol a8l Td SRl ©9 ¥ TS o HH qFIeel (FHSR) a7 o Arl
1 T YHRA o TTT Yot A1 SR dlfeh THIS § WIS T e STHHHa1 shi @1e IRl 5
Tk | 3HY 37 AT i <9 GURA & o fafyr fmtor s smawaesar nf, S 39 SRS
FHNATE 1 ¥ ¢ | R0l & FaGTd & 191a H, 9 YR o fa& &1 9r 14 § Sfofq o
% fagid &1 ek ST 999 T e ®9 9 "HitSte s T sTemarei s aHe g
dfgem & st v | aftia 5 fen f<e 1 s o o gu o & fau St sl stfer
e 3 3k T aftenter o fagia fawfad fe €1 97 fagia 99 & wUSIR qen g
STEAHE okl o foTT A M a1 HehRIcHeh: SIS hl 93¢ i & fau faesfad feram e
o | $9 YR i faumlt qen shrvifereht ot Shas i a¥ft T fohan < gehan §, afg 9% dehdTa
RO AT ¥ W o o9l o TeHee o JITel Tagidl o UIeo T T 3l & |

I o THE GHM ! Hohoddl/ ATURON H, AT < o= TH0 & H G A
T & S ifaes T § eryE g1 6w 14 B 59 91a i MR < E € 9% © fafire & 9eT e
Yok 1Y THM SFAER HF & THY THEA 61 A4 ¥ wEE fraw & wme wdt (Avien)
T § 31 37! Al W THM €Y F AN A1 AMEC | HT % THET THMA 1 31¢f 78 78 & S
=it et € o off T €1 oreqa | ekt 21 ® 5, Sifd ok o= Tt e W fasrenri
o1 foe | faenfaes den g GIHR &I, AHa Gl 9 37Ul e JohR i GHEST 6l GHTE
T o, TR 7w o o S1fueer B =nfen aifer o foret o Sewa <1 W oY |eh aen
IHeH! Y & forw 38 =aferai o sgeii &1 afigha o Hoh, i1 W W Fraw arp 3 €

WXYZ—-00 7 P.T.O.



11. Right to equality, one of the fundamental rights, is enunciated in the constitution under
Part 111, Article :

(A) 12 (B) 13
(C) 14 (D) 15

12. The main thrust of Right to equality is that it permits :
(A) class legislation
(B) equality before law and equal protection under the law
(C) absolute equality
(D) special privilege by reason of birth

13. The social and economic inequality in the society can be bridged by :
(A) executive and legislative action
(B) universal suffrage
(C) identical treatment
(

D) none of the above

14. The doctrine of classification is evolved to :

A) Help weaker sections of the society

B

~—

(
( Provide absolute equality
(C) Provide identical treatment
(D) None of the above

15. While dealing with diverse problems arising out of an infinite variety of human relations,
the government :

A) must have the power of making special laws

B

~—~

must not have any power to make special laws

(
(
(C) must have power to withdraw equal rights
(D) none of the above

WXYZ—-00 8



11.

12.

13.

14.

15.

wiaum § gfasiya diferss ifueri § S o AR foraen i o @

(A) #RT 12 T 9 11 (B)  ®IRT 13 I 9T III

(C) #IRT 14 T 9T III (D) #IRT 15 T 90T 111

U1 o AR 1 g& SR 78 ¥ {6, g% i Tar g ¢
(A) o fauma =i

(B) WIT o THE FHIA SR HHM A T
(C)  Hyvl WA I

(D) ST % STTYR 9T foroferen s

TSl § WIS T TR STHHAT bl g o S Heha ©
(A) e 3R faumdt Hier g

(B) WEIHe HATTHHR gRI

(C) THM FaER gR

(D) SW ¥ HIE Tl

FfteRtr 1 foagT frfafed sewa & faefad foran mn @
(A) THS o HHSIR S bl FEHAT o T

(B) YUl THMHA & o

(C) ©HH HeRR & ford

(D) SR H § HiE &

3% YR & TG Gadi | TS THEAST 1 FHHEM Hld THI TR )
(A) T YHR o gfteahior WA H1 AHR 1 amfeq |

(B) W YR o geshivl W o1 31fuehR =T&f 2 =ifen |

(C) THM AHFHR aTTH TH 1 STFHR 1 =1fen |

(D) SR o | g 7L |

WXYZ—-00 9
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16. Communication with oneself is known as :
A) Group communication

B

~—"

(
( Grapevine communication
(C) Interpersonal communication
(

D) Intrapersonal communication

17. Which broadcasting system for TV is followed in India ?
(A) NTSE (B) PAL
(C) SECAM (D) NTCS

18. All India Radio before 1936 was known as :
A) Indian Radio Broadcasting
B

~—

(
( Broadcasting Service of India
(C) Indian Broadcasting Service
(D) All India Broadcasting Service

19. The biggest news agency of India is :
(A) PTI (B) UNI
(C©) NANAP (D) Samachar Bharati

20. Prasar Bharati was launched in the year :

(A) 1995 (B) 1997 (C) 1999 (D) 2001

21. A statistical measure based upon the entire population is called parameter while measure
based upon a sample is known as :

A) Sample parameter

B) Inference

~—

(
(
(C) Statistics

(D) None of these

WXYZ—-00 10



16. STH-HYTI ] FEd &

17. 9Rd § A G THROT JOTTeA! ST STER0T BT § 2

(A) TATHE. (NTSE) (B) U.3.d. (PAL)
(C) THIH.TWTH. (SECAM) (D) TAAHEH.THE. (NTCS)
18. 1936 § Wsdl 3l sfean deal =i Fed 9 |

19. RA I Go oSl FHMER A0 (ToR) ¥
(A) 2R (B) . UA.3E.
(C) TATTTYL (D) HHMEIR HRdl

20. YR YR o1 T fH=fafad o | foran man on)
(A) 1995 (B) 1997 (C) 1999 (D) 2001

21. HUl SIS R e Fiferent g s yree (i) wed 71 ufaeer (Fuer) woenefa

Y 1 AT e ¢ ?
(A) Ffa=eE g (Hoe Tte)
(B) ergfafa

(C) wiferht

(D) SR H FHIE Tl

WXYZ—-00 11 P.T.O.



22. The importance of the correlation co-efficient lies in the fact that :
(A) There is a linear relationship between the correlated variables.
(B) It is one of the most valid measure of statistics.

(C) It allows one to determine the degree or strength of the association between two
variables.

(D) It is a non-parametric method of statistical analysis.

23. The F-test :
(A) is essentially a two tailed test.
(B) is essentially a one tailed test.
(C) can be one tailed as well as two tailed depending on the hypothesis.

(D) can never be a one tailed test.

24. What will be the next letter in the following series :
DCXW, FGVU, HGTS,

(A) AKPO (B) JBYZ (C) JIRQ (D) LMRS

25. The following question is based on the diagram given below. If the two small circles
represent formal class-room education and distance education and the big circle stands
for university system of education, which figure represents the university systems.

a) O Q O (B)
© @ O (D) @

26. The statement, ‘“To be non-violent is good’ is a :

(A) Moral judgement (B) Factual judgement
(C) Religious judgement (D) Value judgement
WXYZ —-00 12



22.

23.

24.

25.

26.

TS U (IR HIUHHe) 1 Hew 300 ¢ o

(A) FeHayE gRafddl (Fifeds dRused) & ot Tk Wi (wifE) dey 7l
(B) T Wifereht o1 Faliferh de WY T |

(C) =g < ufterdt o s & Sl =t A a1 vifed & Frefeor &6t erafa <o €1
(D) ¥ wiferent faverm &t sTrafe® (non-parametric) fafer 21

T (F) o :

(A) e &9 F fET=9 (two tailed) T&T0T 7|

(B) 1A 9 | T T3 (one tailed) TIET T

(C) W@he (hypothesis) % 3TTHR Tk T3 A1 T5Y=s Tieror & 9ehel T
(D) TH T=3 TO&q0 il &1 & Fohall |

FreAfefad Tt § ST SiF |1 1eR TR 2
DCXW, FGVU, HGTS,
(A) AKPO (B) JBYZ (C) JIRQ (D) LMRS

frefafad we fu e fom W senfia B1 SR 1 B et S=fieh wal % qen TRy
Toren & Y 1 T € IR et e favafamrer fen yorel =i gwiar ® @ e fou @ fesi
H fovaferamerh foan s & @ fox ot &2

@ O Q O (B)
(@) @ O (D) @

‘s7feges g o= &' fohm e W foi ¥

(A) Hfaer foig g1 (B) aumex fvig ¥
(C) enfifer ot 7 (D) ¥R fofa g1
WXYZ —00 13 P.T.O.



27. Assertion (A) : Man is a rational being.
Reason (R) : Man is a social being.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

28. Value Judgements are :
A) Factual Judgements

B

~—

(
( Ordinary Judgements
(C) Normative Judgements
(

D) Expression of public opinion

29. Deductive reasoning proceeds from :
A) general to particular

B

~—

(
( particular to general

(C) one general conclusion to another general conclusion
(

D) one particular conclusion to another particular conclusion

30. AGARTALA is written in code as 14168171, the code for AGRA is :

(A) 1641 (B) 1416 (C) 1441 (D) 1461

31. Which one of the following is the most comprehensive source of population data ?
(A) National Family Health Surveys
(B) National Sample Surveys

(C) Census

(D) Demographic Health Surveys

WXYZ—-00 14



27. HUT (A) : HIH THIA HON T
HIUT (R) : AT HHISH JI0fT & |
(A) (A) 3R (R) 1 T& € 3R (R), (A) i T ==& B
(B) (A) 3R (R) S @l € Afeh (R), (A) T Tl =ame & |
(C) (A) G@ € Wl (R) TTerd |
(D) (A) 7T € wfeh (R) TEl €1

28. HeIwH fuig €

(C) 3R foig
(D) SHd ki ATyt

29. fTHHTHS ek S BT ©
(A) HHF 9 oy ot &R
(B) Tomw & W T &R
(C) T UM ek 9 S8R 9= kel o6t 31
(D) T fomiy frepd § ga fawm frewdd a0t &7

30. AGARTALA &l i€ H 14168171 foram 71 & 91 AGRA &1 IS &I :
(A) 1641 (B) 1416 (C) 1441 (D) 1461

31. frafafad & @ F @1 S SHEE Tihs 6 Haifeeh Taaqmae &id 82
(A) T wiRaTien @ qaeu
(B) sIra Hua e
(C) ST
(D) SHHIREHT &

WXYZ—-00 15 P.T.O.



32.  Which one of the following principles is not applicable to sampling ?
(A) Sample units must be clearly defined
(B) Sample units must be dependent on each other
(C) Same units of sample should be used throughout the study
(D) Sample units must be chosen in a systematic and objective manner
33. If January 1st, 2007 is Monday, what was the day on 1st January 1995 ?
(A) Sunday (B) Monday
(C) Friday (D) Saturday
34. Insert the missing number in the following series :
4 16 8 64 ? 256
(A) 16 (B) 24 (©) 32 (D) 20
35. If an article is sold for Rs. 178 at a loss of 11%; what would be its selling price in order
to earn a profit of 11% ?
(A) Rs. 222.50 (B) Rs. 267 (C) Rs. 222 (D) Rs. 220
36. WYSIWYG - describes the display of a document on screen as it will actually print :
(A) What you state is what you get
(B) What you see is what you get
(C) What you save is what you get
(D) What you suggest is what you get
37. Which of the following is not a Computer language ?
(A) PASCAL (B) UNIX
(C) FORTRAN (D) COBOL
WXYZ—-00 16



32.

e (Hwfer) § = for@ | @ wiF-a1 fagia ang 787 2ar?

(A) Tf=a 1 sl Sl TR €9 H ARG fohal STHT A1feu |

(B) Wfcrere <kt sehrgall Tk gHt W e 2t =few

(C) Hyuf 1 & SR Yfa=ra st Tk & TRl 1 STANT fohan <1 =nfeu |
(D) 9fq=ra =it ShIgAl ohl HAEAYeh A1 Tk &7 § T ST =T |

33. TR SHA{ 1, 2007 WHAR €, A 1995 &I SHeRt 1 o %A 91 ar (&) dmm?
(A) TR (B) HHAR
(C) gHar ) RUEEIN
34, o9 H ¥ @ 3 I 9RT :
4 16 8 64 ? 256
(A) 16 (B) 24 (C) 32 (D) 20
35. TR U %] 1 11% i e H 178 & | o<1 T & @l 3§ 11% oY I & fau o svimd ™
oS B 2
(A) ¥ 222.50 (B) ¥. 267 (C) % 222 (D) % 220
36. WYSIWYG - fordll SHIeIS 1 39 YR 98 W fe@aran €, A1 o8 oeqq: qfed foran s :
(A) Sl 379 F&d €, Tel AT fHerd g
(B) 39 S ST €, &t 3T9h! fireran < |
(C) 19 S §99 F ©, e A9h! e 7 |
(D) 19 S G €, &l 39kl fierar €1
37. frefefaa & o o wreger um 78 72
(A) UR=RA-PASCAL (B) Ie-UNIX
(C) WREM-FORTRAN (D) WIE@-COBOL
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38. A key-board has at least :
(A) 91 keys (B) 101 keys
(C) 111 keys (D) 121 keys
39. An E-mail address is composed of :
(A) two parts (B) three parts
(C) four parts (D) five parts
40. Corel Draw is a popular :
(A) Ilustration programme (B) Programming language
(C) Text programme (D) None of the above
41. Human ear is most sensitive to noise in which of the following ranges :
(A) 1-2KHz (B) 100 - 500 Hz
(C) 10-12 KHz (D) 13 -16 KHz
42. Which one of the following units is used to measure intensity of noise ?
(A) decible (B) Hz (C) Phon (D) Watts/m?
43. If the population growth follows a logistic curve, the maximum sustainable yield :
(A) is equal to half the carrying capacity.
(B) is equal to the carrying capacity.
(C) depends on growth rates.
(D) depends on the initial population.
44. Chemical weathering of rocks is largely dependent upon :
(A) high temperature (B) strong wind action
(C) heavy rainfall (D) glaciation
WXYZ—-00 18



38. U i dllc § & 9§ *H :
(A) 91 %t 2Bt B (B) 101 Fit Breft ¥
(C) 111 Fsft Bt 7 (D) 121 Fsit Bt B
39. - gl H foRad WM B € 2
(A) A (B) W
(©) =R (D) T AT
40. Corel Draw T& AhYT :
(A) =0 (Illustration) FIHT 21 (B)  WRMTHT &t «Ton 2|
(C) TF=IUH T (D) SR H § h1g off -7 |
41. AT F HA A o 39§ T wet eiferss dagsie 82
(A) 1 -2 fohcmest (B) 100 - 500 BTt
(C) 10 - 12 fraiERst (D) 13 - 16 forciERs
42. = Tordt sepmeal @ STeTs i Swal 7O % fow i o 3o gge Bl @
(A) faea (B) BN Q) ®H (D) deSl/H.2
43. WW@%@WW(logisticcurve)wmm?ﬁ%?hﬁwH'ITUﬁ?il
(sustainable) 9T (yield) :
(A) =T i & o AT B |
(B) oI hi &I o SIsR BT |
(C) e & gfg W s sl |
(D) 3TfYyeR SHEEn R R & g
44. FEHl H THEME STUAT (weathering) FR T &
(A) 3= TOEHE W (B) Sl eIl h GHE W
(C) i g W (D) TeAr=sIEd W
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45. Structure of earth’s system consists of the following :
Match List-I with List-II and give the correct answer.
List-1 (Zone) List-II (Chemical Character)
(a) Atmosphere (i) Inert gases
(b) Biosphere (i) Salt, fresh water, snow and ice
() Hydrosphere (i) Organic substances, skeleton matter
(d) Lithosphere (iv) Light silicates
Codes :
(@ B () @
(A) @) @) (1) (iv)
®B) @) @) @) (i)
Q) @ @ (@) (i)
(D) @) @) @) (i)
46. NAAC is an autonomous institution under the aegis of :
(A) ICSSR (B) CSIR
(C) AICTE (D) UGC
47. National Council for Women’s Education was established in :
(A) 1958 (B) 1976 (©) 1989 (D) 2000
48. Which one of the following is not situated in New Delhi ?
(A) Indian Council of Cultural Relations
(B) Indian Council of Scientific Research
(C) National Council of Educational Research and Training
(D) Indian Institute of Advanced Studies
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45. el YUIedt skt SE frEfafead @ s

gedt-1 < gen-11 9§ e g w&t W i

G-I (S07) Gei-11 ( Tk 18707 )
(a) STdreRT () Tafera 19
(b) SIF AR (ii) @I, e 9L Eh SR SEw
(c) TEdl AR (FSERA) (iii) ETeEE UeTe, Theed uard
(d) fauErRR (iv) s Taferhed
Hie

(@ (b)) (0 @
(i) (i) (1)  (iv)
@ @) (i) (iv)
i) (@) (i) (iv)
(i) () (@) (iv)

CRCH

S

46. TATUH fry & deen o siaiia wonfia g5 ?
(A) E.91LTH.TH.3TR (B) WI.TH.3E.3N
(C) TmRHLAZ (D) IS

47. U Afgen foan aftug forg o § wenfya g2 2

(A) 1958 (B) 1976 (C) 1989 (D) 2000

48. = ol deensdi # § 72 fooeh # SH-H Heen wonfd 78 ¢ ?
(A) e HiEHfa SrgHam aRee
(B) R AIfeh STTHEM IR
(C) gt edivreh STEe T Hf¥rero URee

(D) R 3= e Eeem
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49. Autonomy in higher education implies freedom in :

(A) Administration

(C) Finance

(B)
(D)

Policy-making

Curriculum development

50. Match List-I with List-II and select the correct answer from the code given below :

List-1 (Institutions)

(a) Dr. Hari Singh Gour University

(b) S.N.D.T. University
(c) M.S. University
(d) J.N. Vyas University
Codes :

@ ® © @
A) @) () Gi) (i)
B () ) (i) (i)
© (i) ) @) (i)
D) @) () @ (i)

WXYZ—-00
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List-1I (Locations)
Mumbai

Baroda

Jodhpur

Sagar



49. = foen o T & fafgared §
(A)  IRIEA (B) Hifa fuRw
(C) fod (D) U= faewfad we

50. G-I %l Gei-11 4 faard ge feu ™ el 6 werd 9 SW SN

gei-1 (qerd’) gei-11 (€T )
(a) = BRIGE e favafammem i HeE
(b) THT.ES favafaaem (i) @R
(c) THUH. FFErd (i) T
(d) ST = gfFarEer (iv) R
HiS :

@ ® © @
A) () O ) (i)
B) () (i) (i) (iv)
© G () @) (o)
D) G) () () (i)

-00o0-
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